7P s i -y w
’y /)}'L{_-,?, ;j;; _,- __ A 4 ! : h)f' ANAERE ﬂ' 4 “O‘V“" ' | ”
"j):"(r:-x)(xﬂ:-?f? 4 (9.;1—%52(2_%' ") p-
x2- &< (»753 2 025“ '
x*- 64 + T L
. _ ‘

3) (20 - 3Y? iy (4x+2) (2% -7) 3

(293"‘-2-2a'3-3'z
I./a,‘?’- 12o.+9

UYx-2 % -4)(-'?4'3'27“"5'
P = 28X o X = 2

€ xt—-22 X =2
LH (ax=2y)(2X=2¥ )
5) M;i)_(;;b}) - 6) (2/222)7%5_ 7. 2% 3y +(3y)*
x?- 4o Yx2 - 12xy +9y*
L -6)la+9
1) (0,2a+4%8)(02a-8)  €) (ga+(-§+q)?}+'¢, "
(0,20»)2'— g% 0% +2a -94
d 0,04 o* - ¢4
) (4x-)(ax+4)  10) (olta-35b) (040 +5k)
(a0 - 43 T 0WEE - (B>
- gIx* -1k O, lb od - 25b%
M) [Lx+ 4
e 2

\
S ——
N
P2
s
\
" 1 .

g (
L

aaaaaaaaaaaaaaaaaaaaaa

aaaaaaaaaaaaaaaaaaaaaa



' *,l‘:b) (3)(-4),@0( ) | i Ay W
S 3x ‘IX~+ B3X =2 =Y lfx-2*-Y

RX=9x -lbx +12
J.’z,x 25x +42,

; xf‘f) ' (ZX—d )

2. (QXD 2_p-(ax)yi (1) - 3 (2%): (s (4

aaaaaaaaaaaaaaaaaaaaaa



